mams, ossbtmf at LAB102, ER1, Lockers 3,4:[135.28 -10.68 132.12] Increment: 12, Flight: 11S
0.0625 sa/sec (0.01 Hz) SSAnalysis[ 0.0 0.0 0.0]

Thruster Tests, GMT 318
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mams, ossraw at LAB102, ER1, Lockers 3,4:[135.28 —10.68 132.12]
10.0000 sa/sec (1.00 Hz)
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Thruster Tests GMT 318

Start GMT 14-November—2005, 318/10:45:00.000
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Increment: 12, Flight: 11S
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mams, ossraw at LAB102, ER1, Lockers 3,4:[135.28 —10.68 132.12]

10.0000 sa/sec (1.00 Hz)

Thruster Test, GMT 318, Burns 1 + 2
Start GMT 14-November—2005, 318/10:46:00.100
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Increment: 12, Flight: 11S
ossraw[90.0 0.0 0.0]
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mams, ossraw at LAB102, ER1, Lockers 3,4:[135.28 —10.68 132.12]
10.0000 sa/sec (1.00 Hz)

Thruster Tests, GMT 318, Burn 3+4

Start GMT 14-November—2005, 318/10:49:00.100
| | | | |

Increment: 12, Flight: 11S
ossraw[90.0 0.0 0.0]
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